



1 | 1

(\*) Find the forence sine 2 assire bansform of 
$$e^{-\alpha x}$$
 and  
deduce that inverse foreners bansform 4. passards dentity  
Sole transform:  
 $F_{S}(s) = \int_{\overline{R}}^{\infty} \int_{0}^{s} e^{-\alpha x} \sin sx dx$   
 $= \int_{\overline{R}}^{\infty} \int_{0}^{s} e^{-\alpha x} \sin sx dx$   
 $= \int_{\overline{R}}^{\infty} \int_{0}^{s} \frac{s}{s^{2}+\alpha^{2}}$   
Inverse Foreners sine Transform!  
 $f(x) = \int_{\overline{R}}^{\infty} \int_{0}^{s} \frac{s}{s^{2}+\alpha^{2}} \sin sx ds$   
 $f(x) = \int_{\overline{R}}^{\infty} \int_{0}^{s} \frac{s}{s^{2}+\alpha^{2}} \sin sx ds$   
 $f(x) = \frac{\alpha}{R} \int_{0}^{s} \frac{s}{s^{2}+\alpha^{2}} \sin sx ds$   
 $\int_{0}^{\infty} \frac{s}{s^{2}+\alpha^{2}} \sin sx dx = \frac{\pi}{2} e^{\alpha x}$   
Propervals Identity:  
 $\int_{0}^{s} (f(x))^{2} dx = \int_{0}^{s} (\int_{\overline{R}}^{s} (s)^{2} ds$   
 $\left[\frac{e^{2\alpha x}}{-2\alpha}\right]_{0}^{\alpha} = \frac{\alpha}{R} \int_{0}^{s} (\frac{s^{2}}{s^{2}+\alpha^{2}})^{2} ds$   
 $\left[\frac{e^{2\alpha x}}{-2\alpha}\right]_{0}^{\alpha} = \frac{\alpha}{R} \int_{0}^{s} (\frac{s^{2}}{s^{2}+\alpha^{2}})^{2} ds$   
 $\left[\frac{e^{2\alpha x}}{-2\alpha}\right]_{0}^{\alpha} = \frac{\alpha}{R} \int_{0}^{s} (\frac{s}{s^{2}+\alpha^{2}})^{2} ds$ 





**UNIT 4 Fourier Transforms Sine and Cosine Transform** 

Use Transform!  

$$F_{c}(s) = \int_{\overline{x}}^{\overline{x}} \int_{0}^{\infty} e^{-\alpha x} \cos sx dx = \int_{\overline{x}}^{\overline{x}} \left[\frac{\alpha}{s^{2}+\alpha^{2}}\right]$$
Inversion!  

$$f(x) = \int_{\overline{x}}^{\overline{x}} \int_{0}^{\infty} \int_{\overline{x}}^{\overline{x}} \left[\frac{\alpha}{s^{2}+\alpha^{2}}\right] \cos sx dx$$

$$e^{\alpha x} = \frac{\alpha}{\overline{x}} \int_{0}^{\infty} \frac{\alpha}{s^{2}+\alpha^{2}} \cos sx dx$$

$$= \int_{0}^{\alpha x} \int_{\overline{s}}^{\alpha} \frac{\alpha}{s^{2}+\alpha^{2}} \cos sx dx = \frac{x}{2} e^{\alpha x}$$
Posseval's Identity:  

$$\int_{0}^{\infty} (f(\alpha))^{2} dx = \int_{0}^{\infty} (f(s))^{2} ds$$

$$\int_{0}^{\infty} (e^{\alpha x})^{\alpha} dx = \int_{0}^{\infty} (\int_{\overline{x}}^{\overline{x}} (\frac{\alpha}{s^{2}+\alpha^{2}})^{\alpha} ds$$

$$\int_{0}^{\infty} (e^{\alpha x})^{2} dx = \frac{x}{\overline{x}} \int_{0}^{\alpha} \frac{\alpha}{s^{2}+s^{2}} ds$$

$$\int_{0}^{\infty} (\frac{\alpha}{s^{2}+\alpha^{2}})^{2} ds = \frac{x}{\overline{x}} \left[\frac{1}{2\alpha} (0-0)\right]$$

$$= \frac{x}{4\alpha}$$
For Find the Fourier Cosine Transform  $f_{0} = \frac{\alpha}{x}$  and fonce find  

$$F_{c} \left[\frac{e^{\alpha x}}{x} - \frac{e^{bx}}{x}\right]$$

$$F_{c} [s] = \int_{\overline{x}}^{\overline{x}} \int_{0}^{\infty} f(x) \cos sx dx = \int_{\overline{x}}^{\overline{x}} \int_{0}^{\infty} \frac{e^{\alpha x}}{x} \cos sx dx$$

$$\frac{d}{dt} F_{c}(s) = \frac{d}{de} \left[\int_{\overline{x}}^{\overline{x}} \int_{-\infty}^{\infty} \frac{e^{\alpha x}}{x} \cos sx dx\right]$$

23MAT201- PARTIAL DIFFERENTIAL EQUATIONS & TRANSFORMS DEPT OF MATHEMATICS 2 1





$$\begin{split} &= \int_{-\pi}^{\pi} \int_{0}^{\infty} \frac{e^{-\alpha x}}{2} \cos(x) dx \\ &= \int_{-\pi}^{\infty} \int_{0}^{\infty} \frac{e^{-\alpha x}}{2} (-x) \sin(x) dx \\ &= \int_{-\pi}^{\infty} \int_{0}^{\infty} \frac{e^{-\alpha x}}{2} (-x) \sin(x) dx \\ &= -\int_{-\pi}^{\infty} \int_{0}^{\infty} \frac{e^{-\alpha x}}{2} \sin(x) \sin(x) dx \\ &= -\int_{-\pi}^{\infty} \int_{\pi}^{\infty} \frac{s}{s^{2} + \alpha^{2}} \\ &= -\int_{-\pi}^{\infty} \int_{\pi}^{\infty} \frac{s}{s^{2} + \alpha^{2}} dx \\ &= -\int_{-\pi}^{\infty} \int_{-\pi}^{\infty} \int_{-\pi}^{\infty} \frac{s}{s^{2} + \alpha^{2}} dx \\ &= -\int_{-\pi}^{\infty} \int_{-\pi}^{\infty} \int_{-\pi}^{\infty} \frac{s}{s^{2} + \alpha^{2}} dx \\ &= -\int_{-\pi}^{\infty} \int_{-\pi}^{\infty} \int_{-\pi}^{\infty} \int_{-\pi}^{\infty} \frac{s}{s^{2} + \alpha^{2}} dx \\ &= -\int_{-\pi}^{\infty} \int_{-\pi}^{\infty} \int_{$$





1) Find I the FST and FCF Q 
$$\chi e^{\alpha \chi}$$
  
By property,  
 $F \leq [\chi \notin \chi] = - d = Fc [\# ]$   
 $= d = f = d = Fc [\# ]$   
 $= d = f = \alpha^{2}$   
 $F \leq [\chi e^{\alpha \chi}] = \int \frac{\pi}{ds} \frac{\partial \alpha f}{\partial s^{2} + s^{2}}$   
 $Fs [\chi e^{\alpha \chi}] = \int \frac{\pi}{\pi} \frac{\partial \alpha f}{\partial s^{2} + s^{2}}^{2}$   
and  $F_{c} [\chi \# ] = d = Fs (\# )$   
 $F_{c} [\chi e^{\alpha \chi}] = d = Fs (\# )$   
 $F_{c} [\chi e^{\alpha \chi}] = d = Fs (\# )$   
 $= \int \frac{\pi}{\pi} \left[ \frac{(s^{2} + \alpha^{2}) - s^{2} + \alpha^{2}}{(s^{2} + \alpha^{2})^{2}} \right]$   
 $= \int \frac{\pi}{\pi} \left[ \frac{s^{2} + \alpha^{2} - s^{2}}{(s^{2} + \alpha^{2})^{2}} \right]$   
 $= \int \frac{\pi}{\pi} \left[ \frac{\alpha^{4} - s^{2}}{(s^{2} + \alpha^{2})^{2}} \right]$   
Identity Property:-  
i)  $\int \frac{\pi}{\pi} \chi_{i} \eta_{i} \eta_{i} \eta_{i} dx = \int Fc (s) G_{c} (s) dx$   
ii)  $\int \frac{\pi}{\pi} \chi_{i} \eta_{i} \eta_{i} \eta_{i} dx = \int Fc (s) G_{c} (s) dx$   
(ii)  $\int \frac{\pi}{\pi} \chi_{i} \eta_{i} \eta_{i} \eta_{i} dx = \int Fc (s) \frac{\pi}{d x}$ 





**UNIT 4 Fourier Transforms** Sine and Cosine Transform

Find the Fourier size Transform of 
$$\frac{e^{\alpha x}}{x}$$
 & hence  
find  $F_{S}\left[\frac{e^{-\alpha x}}{x}\right] = \int_{T}^{T}\int_{S}^{T}\int_{Z}^{e^{-\alpha x}} \sin Sx \, dx$ .  
 $F_{S}\left[\frac{e^{\alpha x}}{x}\right] = \int_{T}^{T}\int_{S}^{T}\int_{Z}^{e^{-\alpha x}} \sin Sx \, dx$ .  
Diff wat  $S$ .  
 $\frac{d}{ds}F_{S}\left[\frac{e^{-\alpha x}}{x}\right] = \frac{d}{ds}\int_{T}^{T}\int_{S}^{0}\frac{e^{-\alpha x}}{x} \sin Sx \, dx$   
 $= \int_{T}^{T}\int_{S}^{0}\frac{e^{-\alpha x}}{x} \cos Sx \, dx$   
 $= \int_{T}^{T}\int_{S}^{0}\frac{1}{x^{2}+\alpha^{2}} \, ds$   
 $\int_{S}^{1}\frac{1}{x^{2}+\alpha^{2}} \, ds = \frac{1}{x} \tan^{1}\left[\frac{x}{x}\right]$   
 $= \int_{T}^{T}\frac{1}{x} \cdot \alpha\left(\frac{1}{x} \tan^{1}\left(\frac{x}{x}\right)\right)$ 





Similarly, 
$$F_{S}\left(\frac{e^{b_{X}}}{2}\right) = \int_{\overline{X}}^{\infty} \tan^{2}\left(\frac{e}{b}\right)$$
  
 $F_{S}\left[\frac{e^{-\alpha_{X}}-e^{b_{X}}}{2}\right] = \int_{\overline{X}}^{\infty} \left[\tan^{2}\left(\frac{e}{b}\right) - \tan^{2}\left(\frac{e}{b}\right)\right]$   
Fund Fourier sine Transform & Fourier coarie Transform of  
 $e^{-\alpha |M|}$ . Hence show that  
1)  $\int_{\overline{x}}^{0} \frac{\cos x}{\alpha^{2}+\alpha^{2}} dx = \frac{\pi}{2\alpha} e^{-\alpha x}$   
 $\pi^{2} = e^{-\alpha x}$ .  
By Fourier sine Transform,  
 $F_{S}[f(w)] = \int_{\overline{X}}^{\infty} \int_{\overline{x}}^{0} f(w) \sin x dx$   
 $F_{S}[e^{-\alpha x}] = \int_{\overline{X}}^{\infty} \int_{\overline{x}}^{0} e^{-\alpha x} \sin x dx$   
 $= \int_{\overline{X}}^{\infty} \left(\frac{s}{s^{2}+\alpha^{2}}\right)$   
Inverse fourier are transform of  $f(x)$  is  
 $f(w) = \int_{\overline{X}}^{\infty} \int_{0}^{\infty} F_{S}[f(w)] \sin x dx$   
 $= \int_{\overline{X}}^{\infty} \int_{0}^{\infty} \frac{g \sin x}{e^{2}+\alpha^{2}} dx$   
 $= \int_{\overline{X}}^{\infty} \int_{0}^{\infty} \frac{g \sin x}{e^{2}+\alpha^{2}} dx$   
 $\int_{0}^{\infty} \frac{f(w)}{e^{2}+\alpha^{2}} dx$   
 $\int_{0}^{\infty} \frac{f(w)}{e^{2}+\alpha^{2}} dx$   
 $\int_{0}^{\infty} \frac{f(w)}{e^{2}+\alpha^{2}} dx$ 





**UNIT 4 Fourier Transforms Sine and Cosine Transform** 

Put 
$$s = \pi$$
  

$$\int_{0}^{\infty} \frac{x \cdot \sin x}{x^{2} + \alpha^{2}} dx = \frac{\pi}{2} e^{-\alpha s}$$
Fourier cosine transform,  

$$F_{c} [f(\pi)] = \int_{\pi}^{\infty} \int_{\pi}^{\infty} f(\pi) (\cos s \pi d\pi)$$

$$F_{c} [e^{-\alpha \pi}] = \int_{\pi}^{\infty} \int_{\pi}^{\infty} e^{-\alpha \pi} \cos s \pi d\pi$$

$$= \int_{\pi}^{\infty} (\frac{\alpha}{s^{2} + \alpha^{2}})$$
Inverse forevier transform of  

$$f(\pi) = \int_{\pi}^{\infty} \int_{0}^{\infty} F_{c} [f(\pi)] (\cos s \pi ds)$$

$$e^{-\alpha \pi} = \int_{\pi}^{\infty} \int_{0}^{\infty} \int_{\pi}^{\infty} (\frac{\alpha}{s^{2} + \alpha^{2}}) \cos s \pi ds$$

$$e^{-\alpha \pi} = \int_{\pi}^{\infty} \int_{0}^{\infty} \int_{\pi}^{\infty} (\frac{\cos s \pi}{s^{2} + \alpha^{2}}) ds$$

$$\frac{\pi}{2\alpha} e^{-\alpha s} = \int_{0}^{\infty} \frac{(\cos s \pi)}{s^{2} + \alpha^{2}} ds$$

$$\frac{\pi}{2\alpha} e^{-\alpha s} = \int_{0}^{\infty} \frac{(\cos s \pi)}{s^{2} + \alpha^{2}} d\pi$$